(Static Power Converter : SPC)
(Switching Mode Power Supply : SMPS)
(Adjustable Speed Drive :ASD)

Integral Cycle  Burst firing

Fast Fourier Transform :FFT
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(Non-Characteristic harmonic)
l

ac winding H2| #cwinding

de winding RZ  gc winding
RI
R3
Il
—_—s
S TETET
R2
RI1 Load

3.1

311 '
3.1

24

current in rectifying elements

3.2

3.3
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()
v - (Wye-We)
f f } f
0 T 2 N
0)
(Delta-Wye)
3.2 N
CD . v
A 4
1 , |33
[
32 () - (31)
Sin(COt)-----sin(5Ct)------sin(7C0t) B sin(1 1C0)
Va, 5 7 1

+-----sin(13CO0t) +... -l-------- cos(— )-sin(hCOt) + ...
13 V3 6 h



harmonic)

= U <X =

S5 —

3.1
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(.2
sin(COt) I—5 sin(5CO0t) H—7 sin(7CO0t) -----sin(11COt)
> (32)
H--iésin(13(0t)+... 4— a/— cos(—6 )—hsin(hCﬁt)+...
(Characteristic
= kPtl (3.3)
= I 34
; 34
n
f
k=1234,.
h
()
6 q
() Ihof 1 () h(%of 1
20.00 2 4,00
14.29
9.09
7.69
5.88
5.26 okt 1 100/h



27

(CANI C¥)

57,17,19,.. 6 2
5,7,17,19,..
2 6
(Phase multiplication)
' 6 2 12
J 6 3 18
J 6 4 24
(33)
6 [9]
1)
)
3 ( a)
4) 60/
9)
6
6
(d.c. ripple)
(Commutation
phenomena)

3.1.2 ! [479]



(Overlap ange) I

AC QRO
D708 TAGE
AC VOLTABE \WWAVES

\/
- ..\'.

\
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(Commutation angle)

/
- ' “HLEC’ <K " DEGNLSS
A 3.4
XC
( (O3 )
ic = Q. (cosCt-cosCOt)
V2XC
col o= flta
E
[cosa-cos(a+fi)]
VX
(36 @37

A cosa —cosCOt A

\lcosa —cos(a + fl)J

a < t<at

0

(leakage reactance)

(ic)

(3.6)
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D.c Link
(at+fj. < cot < a+271/3) ()
e = | atfj. < t< COCHICH) (39
cot = Ot+271/3

cos((X + 27 /3)—cos cot

i (3.10)
Costa+ 271/3)- cos(a+ 211/3+ )
a t— <Cot< at+t— 1|
3 3
a L
6 ' 32
3.2 6 a 1
xc = 8 %[7]
a=10°/u=15.2° a =60°f.=52° (Uh)
h Ih(% B Ih% 0 (/|
5 18.65 19.83 20.00
! 1244 14.05 1429
i 6.37 8.2 9.09
13 4,62 1.26 1.69
17 2.29 532 5.88
19 153 4.64 5.26
23 0.63 361 435
2 0.51 321 4,00
(1)
(a) ((1)
35 38 [4

7] Classical Method
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3.8

10

O 10 20 30 40

HUWRN L (83A7)

qumﬁﬂu. LL (8971)

W}

31



32

3.9

P * un* «npttude L-N Voft* (A) L-L Vote (A-B) Lcunwt(A)
—

15
2 k. ¥

¥
o8 iz

=
A

)/j//

05 L i
1.0 )/,-X‘ _/ \
s ki o S
) ) 10 150 20 2% 0 »0 w0
1EC 35954

NOTE - Source impedance = 2 %, converter impedance = 6 %

'3.9

( ) 4]

310[7]

AT

ok W

AC ewrrent

AC cwrvent AC eurrent
with Zere Nnk with Flnbte Bak 1 &
Inductance st Mok Inductance

3.10



(1) Dobinson
Dobinson

311

(Ripple ratio 1) (3.11)

i
(312)

L(1.102+0.014)
(313)  (3.14)
1 6.46r 7.13r

bbb _"1)
h=kp-1 (5,11,19,23...)
1 6.46r 7.13r

| -1

.h h+ 1 h

h=kp+L (7,.13,2,25,..)

33

(™ angie)

(311)

(312)

(313)

(3.14)

312
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__ 1 _ Direct I j | T
50——1'["54"55:?&;\5,"!_7\_7" 1°T‘r,,\_‘1' e i
Ih(% of 1,)
r=Ir/d
3.12 b
5 1
(2) Graham-Schonholzer(G-S)

Graham-Schonholzer

2~/2 | sin(hft/3)sinh4/2) |~ rcg,cos(hm/6)

(3.15)

L h2fi/2 1-sin(71/3 + fi/2)

[(h+ 1)(7t/6 —p./2)] 1sin[(h—1)(7 /6 —F1/2)] 2sin[h(7U/6 -  [2)sin(7I/3 + [1/2)]
h+ 1

(3.16)

Alllc

(3.16) 3.3



AC HARMONIC CURRENT AS PERCENT OF {4,

if
ot
L g
¢ 180° *
3.13 (3.15,3.16)
LY OVERLAP ANGLE 1 (DEGREES)
-1 —5 -~ 10 --2
) [ —
m - ” . o
- - /
50 P - ‘/"/,./"
S L S e e I
© = — -t
B— — — S
0 ‘/,—:"/4:’."’_,_-—
m:/4“f£’
10
0
0 D © ® 0 700 120 140 160 160

PEAK TO PEAK RIPPLE AS PERCENT OF [,

X 1lecl3>20'I0

5
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AC HARMONIC CURRENT AS PERCENT OF |

OVERLAP ANGLE (DEGREES) N
45 — 1 -— 5 — .10 - 20
v
40 v
Y
yy
35 "
v
30 v Y
Yy P
g v
yy Y
! y Y
20 — .-
v Y
15 ™ ) ™~ A
Y
v
T mr-= v "
0 v
I+ v
5
’ L] - — —
0 N
20 40 60 80 100 120 140 160 180 200
PEAK TO PEAK RIPPLE AS PERCENT OF
ro3.15 { 1 { { 6
14
OVERLAP ANGLE p (DEGREES)
-1 -—5 —- 10 -- 20
12
"
'/
e
10
L~
b o] e o] T T T p——— — e — | ] ]
8 e e
r“ﬁ-\. i [T =r——
o B — -7
—
G = B
., #
S~
|
e P e o
e 4
\\ 7
~ -
\\~ A
2 ool
~d.-
0
0 20 40 60 80 100 120 140 160 180 200
PEAK TO PEAK RIPPLE AS PERCENT OF /.
1 3.16 { 11 { f 6



L=65mH  X0:0.08pu  (=10° | =152° L=65mH  X0=008pu  a=g0° p =517° L=05mH  X0=008pu <=0’ =9.28°

1/h Classical Dobinson GS 1h Classical Dobinson GS 1h Classical Dobinson GS
20000 18653 20849 15718 20000 19831 22331 18995  20.000 19426 36508  61.568
14286 12440 13338 8810 14286 14050 11683 9319 14286 13539 4151  14.508
9091 6373 9.081 4.167 9.001 8.123 9064 7279 9091 1.945 8900  9.607
1692 4618 1.302 3.321 1.692 1.260 6.619 5149 769 6.359 0090 1313
5882 2292 5.812 1.464 5.882 5.324 5689 4265 5882 4.206 4514 2419
5263 152 5.029 0.977 5.263 4.643 4619 3389 5263 3.434 0698 0612
4348 0627 4274 0.035 4,348 3610 4145 2830  4.348 2.254 2919 0247
4000 0513 383 01l 4,000 3.206 3541 2381 4.000 1.795 0791 1001
3448 0617 3380 04711 3448 2.541 3261  19% 3448 1.069 2125 0520
3226  0.654 3100 0470 3.226 2.214 2879 L1712 3226 0.784 0.769 1014
2857 0612 2.796 0.467 2.857 1811 2688 1380 2857 0.343 1659 0.723
2703 0545 2.601 0.411 2.103 1613 2423 1229 2703 0.188 0720 0.753
2439 0.366 2383 0241 2439 1.210 2286 0955 2439 0.161 1356 0.665
2326 0214 2240 0182 2.326 1.120 2001 0864  2.326 0.236 0.666 0453
2128 0.145 2.011 0.002 2.128 0.858 1989 0635 2128 0.347 1143 0492
2041 0141 1968  0.039 2,041 0.743 1840 0581 2041 0.379 0616  0.184

3.3

(% of 19 [7]



AC HARMONIC CURRENT AS PERCENT OF

3.4

7)

L OVERLAP ANGLE i (DEGREES)
g{ — .1 —5 =10 --20
8 7
7 P Sl
« N P74 7
N \ 4 s
6 N S A — /, o
- S .7
5 -~ et
v N " SR
™~ N N v .7 7
4 ~ A & N -/. 'l
NN N 7 i //
3 e — —
~~~~~~ . BN > a4 /
2 o T A g AN Sl B P
el ! RS N e P V
E “‘\'?;.r:’:(t._,/ z
1 > - E Y SO
S T
0 sanl ok
0 20 40 & [-3) 100 120 140 160 180 200
PEAK TO PEAK RIPPLE AS PERCENT OF
1 3.17 13 6 2
a (D.c. link)
Xc=0.08 p.u.
Classical
Dobinson ( 5
Graham-Schonholzer (
Dobinson

3.5
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3.5
Vh ( )
Classical
Dobinson ( )
Graham-Schonholzer ( ) ( )
3.2 ] 6 IEC
1000-2-6 [14]
IEC
. (Trigger delay angle or Firing angle 00
J (Short circuit ratio:Rsc)
J (d.c.smoothing current)
IEC
Xd =
XL = (a.C.side)
i = ()
d = d =0
= (Line -to - Line) ( r.m.s)
d ()
a = (Trigger delay angle)
Re = ,
(a-0)
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h = h=6 +1=1571113,.
= =0123 ..
321 3
31() ()
Controlled a.c.
PCC supply side S - g _______ (m) 0O

SN0 convertor (B6)

X, Load side convertor
B | o T T ()
N s
o X,
X. m —D}— A= ( )
: X,=2mf L,
,3.18 { [EC 1000-2-6
B6 6
(3.17)
Smoothing ratio = (Xd"'%'l"d (3.17)
(3.18)
u 1
'sc 318
XL o
(3.19)

Ve .19
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3.20 ( )
h = (3.20)
h
) T
319 320
2,04 01 Re=20 10
36 38
/ “' X« + 2 *<
0.5 Rsc = 20
Loy PRsc=10

- O

0 30° 60° 90°
5th order component

'3.19 { 5 Rsc 1 Smoothing ratio



! * *
7k Rsc = 20 df)Z -
[ / :
0.15
0.1
/,+Rsc=10
Rsc =10
’ Rsc = 20 2
01
Rsc =10
0.05
R« /
0 30° 60° 90°
7th order component
2 3.20 7 Rsc ,a Smoothing ratio

3.6

[* a

0 90°
084 &P
0975  0°
3.7
| * a
0 90°
084 g°©°
0975  0°

(Low d.c. ripple) Rsc = 20 (Xd 2XL) -A- =2

h 5 7 1 B33 7 O

0.21 0.13 0.09 0.07 0.06 0.05
Ih/l 0.21 0.13 0.09 0.07 0.05 0.04
0.19 0.12 0.08 0.05 0.02 0.02

(Medium d.c. ripple) Rsc = 20 , (Xd 2XL) -— =0.4
h 5 7 11 13 17 19
0.27 0.06 0.09 0.04 0.05 0.03
11 0.24 0.10 0.09 0.06 0.05 0.04
0.20 011 0.06 0.05 0.02 0.02

0.04

0.04

0.01

23

0.04

0.03

0.01

42

0.04

0.03

0.01

25

0.03

0.03

0.01
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(High d.c. ripple) Rsc = 20 (Xd+ 2XL) -y- =0.1

. a h 5 7 1

0 IS] 0.48 0.17 0.09
0.84 8 Ih/ 0.35 0.04 0.09
0.975 0° 0.25 0.09 0.06

(321) (322
ULN = |.nV25in(COLt)
In = Hyfi sin(h(0Lt - (j)h)
at arccos A\
Vo U
. = (Overlap)
LN =
(0L =
)
() YIY /

/ 321 322

B I B B8 5

0.05 0.04 0.02 0.02 0.01
0.01 0.04 0.01 0.03 0.01

0.04 0.02 0.02 0.01 0.01

YY
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JUN 3.21 pAduyeuNANUasNTIUA lunsaIviBULaIFRoULL Y/Y Y38 D/D

ITh/I1 4+

0.2 —t—

=, ]
Ik

3.22 [ YA D/D

17 19

 J

gh »  (180° +a + (12 h=57,(17,19)

h « (a+ph h=11,13,(23,25) (3.24)
() YD DY
|1 DA
YID 323 324

JUR 3.23 pUadusBuTAUUAzNszuA Tunsalvsiauravsisuuy Y/D u3e DY



2 324 YD DIY

Jh« (a+|il2)h h=571113.. (3.25)
6 7 2
5 .7
12
3.2.2 3 L-C
3.18 ()
36
(3.26)
2CD1> (r
- ()\)
@, = 326
" Ca(Xat+2X,) (320
oL =
R =

32.3 3
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3.25

Diode rectifier (B6)

i - > D

4l Cd Load side
3.25 { {
' 1 (Rsc) 3.9
3.25 ’ 5o T Rsc
3.9 { y
uyud  Rsc h 5 7 1 13 17 19 23 25
1.02 500 0.86 0.70 0.35 0.22 0.09 0.09 0.07 0.05
1.00 100 i1l 0.64 0.40 0.09 0.09 0.05 0.04 0.02 0.02
0.97 20 0.30 0.09 0.06 0.04 0.02 0.02 0.01 0.01
0.94 10 0.24 0.07 0.04 0.03 0.014 0.01 0.01 0.01
$=70°.135" (=90 ..290°  Rsc=10...500

In

Iy r””J

0.8 et

b
D
06 //’ /,/
// A
A Z
O '3.26
—
02 { 5 7 Rsc
=
0

10

20 30

50

80 100

200 300

500
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